ACTFSM-03

ACT- ASSOCIATION OF COMPUTER TEACHERS MALAPPURAM

MODEL EXAMINATION -03

COMPUTER SCIENCE
ANSWER KEY

Qn |Ch |Question Value points Score |Total

No |No Score

PART A |Answer any 5 questions from 1 to 7. Each carries 1 score. 1 M@@3 7 UOEMIBS nGO@BsIRIZe 5 PART A
(5x1=5 @2l0B(6BRUBH6] DOM®Po n§)PIORD:. 1 MIEHID

afloe. (5%x1=05)

1 1 The first electronic computer was . ENIAC 1 1
@RI DLIGG(SIEMID> SHMIRSD ENIAC 1 1
@RIGIM]. .

2 1 The number system with base 8 is called . Octal Number System 1 1
genINY 8 988 MmId Milgued® ag)am Octal Number System 1 1
aflglesamy.

3 5 Name the datatype that indicates the empty set of data. void 1 1
UOIMIRIQ AWIQOD Maflafleennmm awoQoeesqilend |void 1 1
Bal@ MNTBHHYHn.




4 5 Which of the following is a user defined name? 1 1
a) Keyword b) Identifier b) / Identifier
c) Escape sequence d) All of these
DMl ]O@IMAUDI@B aB@I6N OalEIBMINT b) / @agwFlen@ad 1 1
MlBUallg) Gal@?
a) SleaIy b) ®ag)wWGlean@d
€) af)MI8Ba] Mildy)BMY d) DUO@EYI0
5 8 The elements of an array are accessed using Array Index/Subscript/Array Name and Index/Position 1 1
65303 @REOVIINLI “LISH6BRUD 9al@@IUils] |Array Index/Subscript/Array Name and Index/Position 1 1
access 6)al@amy.
6 9 built in function is used to terminate a exit() 1 1
program.
8@©} B ld(NJ0 @PAUMVIMla{leedmrd exit()
aN6EBaHMB OalEINIHEMM].
7 11 | In network topology, each node is directly Star Topology 1 1
connected to a hub / switch.
OMOUBSHS) BSICJISID@D 6306@I Star Topology 1 1
@MW BMAIS 6@} a06NT / MVl 5 fleelss)
enucmWlaflojl@lesnomy.
PARTB |Answer any 10 questions from 8 to 27. Each carries 2 scores. |8 @}@@d 27 QU@ agleO)@®ssleljo 10 GaJOB_gs'GBUBceé' PART B
(10 x 2 =20) DO @o MDBDYH:. 2 MIBHIB Qfl@o. (10
x2=20)
8 1 List two most common Al (Artificial Intelligence) LISP, PROLOG 2x1 |2
programming languages.
@6ns Al (Artificial Intelligence) Glo(W2alers LISP, PROLOG 2x1 |2
BIHUSSBIES GalE)RWIOND:.




9 Arrange the following technologies according to different Vacuum Tube , Transistor , Microprocessor, Artificial
generations of computers (First to Fifth Generation). Intelligence
(a) Transistor OR
(b) Vacuum tube ® ,@,W,©
(c) Artificial intelligence
(d) Microprocessor (Reverse order can be given 1 mark)
allallw @meiao SmIRSOIEUBEHMIME] 4] QUIBJo SiIeNT , (SOMAVIARA@ , HOAGEIBEIITVGYAD |,
DMl jOIMM MG QflR(EUB (B> BBl BB @R @Sladlay@d snapelzendmy
(630M} D@D @60 MRIAID AUO®D). OR
) (sondarvlpe ® . @ . @, ©
b) QUIBsjo SfIENT
¢) @RASladlax(@d snadeilezmdmy (Reverse order can be given 1 mark)
d) ©ODEE06)(IdTVYYD
10 Convert (11011) » to Octal and Hexadecimal. (11011),=(33)s
(11011), =(1B)s6
(11011), ©®M BBS@D, HANBMISHAWMIA@ MMIB (11011),=(33)s
milgueeglcalos) Mgl ag)ImRs:.
(11011)2 :(1B)16
11 State the Commutative laws of Boolean algebra. X+Y=Y+X
X.Y=Y.X
Boolean algebra @le)el Commutative M@ 268303 X+Y=Y+X

(I @01 H6)Hs.

e

Flawlines



X.Y=Y.X

12

Write a short note on RAM.

Any four from the following

Random Access Memory.

A part of main memory.

Stores data, instruction, operating system etc.
Data can be stored and retrieved at random.

Data and instructions to be processed by CPU must be
placed in the RAM.

It is a volatile memory.

Speed of RAM is measured in Mega Hertz.

4x1/2

RAM 6M&601 5] 3301600930035,

@26 alo@maileiow mlimle agemssslelio 4
ag)6Ro

Random Access Memory

main memory QeS 63@} B3Wo.

data, instructions, operating system @}S683I@Q store
6).21QROM}.

Random @@ (WIQ MIoR@lE6IM0
alleenzs)eenomie Y.

CPU @(aloM(Q)] 218QI6NE (WIQ@3o MIBEGUI6ERS0
@R6NY RAM @3 (U386 d:.

@R®) 6@} @RMuAlE memory @I6M).

4x1/2




*  RAM 603 GQINO® @R8H6M® Mega Hertz @3
@R)6M.
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What do you mean by Free and Open source software?
Write two examples.

Free and Open source software gives the user the freedom to use,
copy, distribute, examine, change and improve the software.

1
Examples (Write Any two from the following )
* GNU/Linux
* GIMP
* Mozilla Firefox
2x1/2
* Open Office.org
» Libre Office etc.
(adl, 839¢]6rMB BATVLIYMY BMVIAAY HQAUIS M@ (D, 63906 BILIYMY BVIRNQ HAUWO
)OS EI61TE @OB@MORILENIMND) af)(0)? 2 DalEISMINUINY BMIARHUDA DalEGWIUIEHIMYo
©BInNEEMEBRUB af)IONE:. alBBOMIMIo AUl@P@EMo 6).a1QIMIo l@lGUBIUIEOIMIo
20QOMo HR.5]6)e]SIBMIMYo TVIID(OMo MN@IE3AM.
93IaNBEMEBRUS (aBOMEIEI0 2 af)eRo) 1
* GNU/Linux
* GIMP
* Mozilla Firefox
* Open Office. Org
2x1/2




e Libre Office etc.

14

Draw any two flowchart symbols and write their purposes.

Any two from the following

C D) Start / Stop
E Input / Output
Process
Q Decision
[ Flow lines
Flowlines
.-—-\\-:I A
[ () Connector

Symbols only can be given 1/2 mark each

2x1

aRBO@®EsIRIJ0 E6NE BrFI210@S 2llameBRUB QUGS]

Same as above




@ROAIQIOS DalCINEBBUD af)PIOND:.
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Write the characteristics of algorithm.

Any four from the following

It should begin with instructions to accept inputs
Variables must be used for inputting data and assigning
values or results.

Each and every instruction should be precise.

Each instruction must be sufficiently basic.

The total time of algorithm must be finite.

After performing the algorithm, the desired result must be
obtained.

4x1/2

@RO@EUNIBIMOMIONMG TVAIGUBAUDEUB af) YRS

ARBO@E5E130 4 BaldDINFIBUB af)L3@®EMo.

MBS U8 Mld@leanM@IMmss
MIBERUDEERESINS ©@R)@oElHBE6Mo.

W Mjle@lecnmM@Imye aileis:ud @reg)esl@d
aDRIEBRUB MTHIMDIMIe CGAUBIENISYH-0UB
DalBINIH66Mo.

63060 MIBBRUAULe B@(RIVI]GIBEMo.

63069 MIBERUBNUZe @RSIMNIMaIERIIGlE6H6eMo
@RO@BEUNIBIMOMINMG @SB MVA®o
al@lalm20ldlesnemo.

@RTBENIBIMo MIBAU]5] BUBHO, BRHNUUDMISS
a0Blo 2IElEe6Mo.

4x1/2
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Categorize the following tokens into operators and
punctuators.
# < ; %

Operators

Punctuators

<

, % # o,

4x1/2




MIOYOHBNISIOIGB LM BSIHOEMIE-OS

Operators Punctuators
operator & U8 @R@Jo punctuator U8 @AYo (M@o < % 4 . 4x1/2
ORI 6D,

17 Identify the invalid literals from the following and write Invalid Reason

reason for each:

a)2E3.5 b)“9” ) ‘hello’  d) 55450  2E35 The Exponent part will not be a
floating point number 1
e ‘hello’
More than one character is
enclosed in single quotes 1
(Listing invalid literals can be given 1/2 mark each )

@969 ]OQIMAUDIITE @RMVIUNUID BIQOLRGUB || [hvalid S0®6Mo

aRB3O@EJJ0 ? BRAIXIGS 696EIMY0

@RMVIWIAUIGHIMBS  HHIEEMOUIo af)PIORDs. * 2E35 Exponent part @3 floating 1
point number

a)2E3.5  b)"9" ¢) 'hello’ d) 55450 * ‘hello’ Single quotes m@eled 1
smilelwldo O0EEESYm)

18 Write the symbols for the following C++ operators. a) Conditional operator ?: 1/2
a) Conditional operator b) Extraction operator >> 1/2
b)Extraction operator ¢) Increment operator  ++ 1/2
¢) Increment operator d) NOT operator ! 1/2
d) NOT operator
@269 ]O@IMM C ++ 6300|BOQMEBIOS allam6BBUd |a) Conditional operator ?: 1/2
) 930} L>. b) Extraction operator >> 1/2
a) Conditional operator ¢) Increment operator  ++ 1/2




b)Extraction operator d) NOT operator ! 1/2
) Increment operator
d) NOT operator
19 Identify and classify tokens in the following C++ statement. |Any four from the following
char str [10] = “Break the chain”; * Keyword char
* Identifier str
* Operator = 4x1/2
e Punctuator ;, [],*
» Literal / String literal- “Break the chain”
®IOYa O C++ aAOANGIE @SIBOEMSUE | @6 @milEleanmumilcd agomasleile moeelgRo
@@ 5Ol @@o@IGBHHQIo 6).a1QRb:: « Keyword char
* Identifier str
char str [10] = "Break the chain"; * Operator = 4x1/2
e Punctuator ; ,[],“
» Literal / String literal- “Break the chain”
20 Define the term variable. Write the syntax to declare a Any one from the following
variable. * Variables are the names given to memory locations. 1
*  Variables are identifiers of C++ by which memory
locations are referenced to store or retrieve data.
Syntax
* data type variable name; 1
(Example like inta; / floatb; / charc; / double d; etc canbe |1
given 1 mark )
UGN ag)aM alBo MIBQUNlee)s:. 6@} @969 ®MIGBleaMAUDIGB n@emesleile B86@No
cudlwenilud Wlg@ad e.a1gpmM@Imss ¢ Q220! HLIDEHEHUMIH-UBHE) MNTBBII@|H63M
MIaBOBM) ) 93@NE:. Gal@}&8B06M cQIGleNIB)E>U3.
1

* AWIQ MIoRAlE6IEMI Afleeeseedem eaaadl




OLIIBHEHUMIBUB Mailafleeymm C ++ e
£af)WGlaD@OIBB6M EDAU. 1
Syntax : data type variable name;
(Example like inta; / floatb; / charc; / double d; etc can be
given 1 mark )

Explain any two jump statements. Any 2 from the following:

» goto:- The ‘goto’ statement can transfer the program
control to anywhere in the function. The target destination
of a ‘goto’ statement is marked by a label, which is an
identifier.

* break:-When a break statement is encountered in a
program, it takes the program control outside the immediate
enclosing loop (for, while, do...while) or switch statement. [2x 1

* continue:- continue statement is used for skipping over a
part of the code within the loop-body and forcing the next
iteration.

* return:-The return statement is used to transfer control
back to the calling program or to come out of a function.

(Name of two jump statements can be given 1/2 mark each)

aRB3O@8sRI}o @6NE &M (Jump ) BAYNODRIEUB @969 ®MIGBleaMAUDIGE ngemesleiio 2 ag)sio

QllaREl BBl H:.  goto — program control aNoUSaHMIeEl aG®)
MLOLIGDM S0 OOEAININB BHYI@Yo. 63@) goto
statement 6)21 RI&H(MNIMo
@PSWIBE)|SIOTIGlE630M @) B3©) GEIENITS
@RIAIE6)0.

* break -G(ENIH6) GARQOAAY program control XM 27x1
ER{l0Y AIOBOMEE) OB>I6NMEIBAIIB3OM.

* continue — loop body ©8s8lORI 8O 3@}
@00 BYINIIBEMDIMIo BRSITT @RJ)NUBDMMo

10




ORSEIMDIMNIo DalEIUIHERIM].
 return - calling program GeIH6) M@ @MeMo @IAIOD:
£6ESAINMDIBMI @P6EJEsl@d 6@} function @3
@l aRO@ORUIGIM@IEMI return GAROOANG’
OaIBQIUIN LM}
(2 Jump GERYOAMPISHBIOS BalOEVITIIM@B 1/2 MIBH6)

)

22 Write array declaration statements for the following:
a) To store the height of 10 students in a) float height[10]; / double height [10]; 1
decimal point.
b) To store English capital letters b) char letter[26]; / char letter[27]; 1
(Variable names can be changed)
IOV HEISIOBlHERM AU H6) @GO a) float height[10]; / int height [10]; 1
W80 BANAODRIBUB ) 3TN,
a) 10 ce:ggﬂ HEIOS DIBHE b) char letter[26]; / char letter [27] ; 1
BUBJoUBMVCEU@II@B MyEHlBeyM@IaY
b) English Capital letters uye:¥ileemM@lay (Euclonizages eeyeud 2000gm@asT)
23 Fill in the program segment to enter the marks of 60 students |i=0; 1/2
into an array.
int mark[60], i; i<60; 1/2
cout<<”Enter the marks”;
for( ; ; ) i+ /++i/i+=1/i=i+1 172
{
>>mark[i]; cin 1/2
}
60 33S1E-826)S BIBEMNEHUB B3O @GO DalEIU4] |i=0; 1/2

input ©.21QRIMBIMBS @IOYHHBNISYOBIE6RM

11




G190 GBI al3@lafleenss. i<60; 1/2
int mark[60], i;
cout<<”Enter the marks”; it+/++i/i+=1/i=i+1 1/2
for( ; ; )
{ cin 1/2
>>mark[i];
}
24 Distinguish between get() and put() function. Any two from each
get() put()
Stream Input function Stream Output function
Accept a single character or Used to display a character % 1

multiple characters(string)
through the keyboard.

constant or the content of a
character variable.

Argument can be given as array
name only or arrayname and
size.

Character variable, character
constant or ASCII value can be
given as argument.

char ch, str[10];
cin.get(ch);
cin.get(str,10);

char ch="c’;
cout.put(ch);
cout.put(‘B’);

get(), put() a3l a063aUMIBUB TIBD Ao 6)2IQYIS.

8308EIMMI@3 MlM)e 2 BaIdIF3e0B

get()

put()

Stream input function

Stream output function

63} character @683
ammlelwlsso characters
(string) cruile@leeRmy.

630} character constant
@R6EJEs@d @RHBUWRIEDNG
@RI M@l@l@lesnymm

12




63@] character variable 0%

OBBSHOEAI 2x1
(13BBlafle620d oy
DaleIUIleanyamy.
Array name @Taagdaaﬂccﬁ array | Character variable, character
name, size ag)omlQl constant, ASCII value
NTBBEMo. @6 argument @R
M TBEH6N3(D).
char ch, str[10]; char ch="c’;
cin.get(ch); cout.put(ch);
cin.get(str,10); cout.put(‘B’);
25 Name any 4 string functions. Any four functions from the following
* strlen()
*  strepy()
» strcat() 4x1/2
* strcmp()
e strcmpi()
aBOO]R130 4 MI(Slot) aNoUIUMILBIOS Gald aBOOE]L1J0 4 aNEBEAHUMBHUB
) P3ORE>. * strlen()
+ strepy()
e strcmp()

* strcmpi()

13




26

11

Write the characteristics of bus topology.

Any 4 from the following

Easy to install.

Requires less cable length

It is cost effective.

Failure of a node does not affect the network.

Failure of cable (bus) or terminator leads to a break down of

the entire network.

Fault diagnosis is difficult.

Only one node can transmit data at a time.

4x1/2

eNIMY BSIG}I8=les MileUH@E>UB
) P3N

@969 a10@IMAUDI@B MM a@emesleilo 4 ag)sio

Install £)21QOMB ag)B3a|R06T).

061010 cable length @RQUUIIMIBS3].

D@ 6).2lL1OT EJOETOTD@IE).

80} GMIWIONR @HIB HMJAUBSHSNOM
eruoullesilgy.

B6enilud (erumd) @Ree|®sld esdadlemgad
a) MIUQOS alEIWo MIPIAUM OMNQ QAUBHLSY
O HBIMDIGRISE ML}

OMQ UBHE) HHB@INIEHUB BHEIENBOTN}D>
af)MN®) (UOABEAIEM).

60} Mo 3@} EMIWIM AX@ED (WIQ
OOBHAINIMD HYIQ).

4x1/2

14




27 |12 |Name the following.
a) Software that appears to be useful but causes a) Trojan horse 1
damage to our computer when it is installed.
b) Attempt to acquire valuable information by posing |b) Phishing 1
as the original website.
@I6OY|OQIMOUDBE) Bal@ M@V
a) DaIGIN(AIBHAMT GDIMIMN@Io af)MIMTD
MRS SMIRSHI@d EOMBEIUD 6).a1QREMIIUD a) G(SOWMB BaNOYMY 1
SHMIRPSOlOM DBEIGIEIISMD@RAIQ BAVIAAY
OQUQA. .
b) WLNIB@A HQIENIOOMQITI @RI Gla]la] b) afil2ilgg !
ailelaflSlojigs alliEeesRUd 6E:NU6Q|SIOMIMSS
(BDo.
PARTD |Answer any 10 questions from 28 to 48. Each 28 @ @3 48 UOEWRSS ~GBO®RIlo 10 BaldR(6BRUBH6Y PART D
carries 3 scores. (10 x 3 = 30) DOMP@o MTBDYB>. 3 MIBHIB Qfl@o. 10 x 3 = 30)
28 |1 Write short note on Abacus Any 3 points from the following :
* Discovered by the Mesopotamians around 3000 BC.
» It is considered as the first computing machine.
* Abacus consisted of a frame with with vertical wires and
each wire contains seven beads. A horizontal wire separates
the top two beads from bottom five. 3x 1

Abacus works on the basis of positional number system.
Each bead on the bottom has a value of 1 and that of top has
five.

The beads pushed against the bar represents a number.

15




Abacus 6&m &30l @3cla] ag)rye:

B3OSR0 3 Bl MPIUB ag)93@®EMo

BC 3000 @3 ©)26)TVI|ICSAIWEIB 66N

DO @RYRIODTD BHMY(ISloUY ORI
BHEMBOIBOE)|SIM].

@RENIDEHMIITD LlotN! AOIGSISS B3®) 6)(Nlo
@RS6BRIVIGIENMM, 6306 AUWOIRR a@Y
DOOBU8 @RSERIVIGlen M. 63r @leuailm
QA ®IOYQ8s @reilmd MM oye:aleRss eens
DIOOREUB GBI @lH6RM].

©aldmilar1em@d mmud milauorsileagd
@RSIMNIMNOBILI6NT @RENIIEHMY
(1QUBODTHERIMD).

DIOYQIBS BIGDI MIOORSUEEN0 1 -60F MLl
2)&80 OS8SBAUQIH6) @6 -Do OENS.

0 enuo0lmny eMe® MSSIATHRM DIOTRG:UB B3©)
MoEU(O® (A I@IMIUWIMo 6)21QROM].

3x1

16




29 Following are some facts related to the evolution of Construction of ENIAC — First generation
computers:
(Usage of transistors, Introduction to Very Large Scale Usage of transistors — Second generation
Integration Circuit, Construction of ENTAC).
Introduction to Very Large Scale Integration Circuit — Fourth
Categorise these under respective generations. generation
HMIRPSOISSIOS al@lemMIDNRAIDI] NIMWEQS aflel |ENIAC- 03 mldzmdemo - @»y3( IR0
QUMD S0 Mo OQIMQUTIENM:
( (SOMBIIENOISBIOS DalEIN0, HQUG] LIOBES (SOMBMIAROIEBIONS DalBRIo - RENMEIo MEIDIO
MIOSI@B DARBUNHM MVBBRSIOMR O@RO,
ENIAC & (l@32206mo ) . Very Large Scale SDOBG(UaH8 MUBH15160F OORo-
EDAIO® ENIMDOQ]S DEIAINBUY BRMIMA]4] MIER@EINIO
®Eo@@la] ag)9ITRH:.
30 Represent — 93 in 2’s complement form (Use 8 bit 93 - 1011101

representation)

8 bit— 01011101
1’s complement — 10100010
2’s complement - 10100011

-93 ©&@ 2’s complement form (@3 represent 6)al1@)3d» (8 bit
Dale@IUIla])

93 -1011101

8 bit— 01011101

1’s complement — 10100010
2’s complement - 10100011

17




31 Construct a logical circuit for
D
Q= (A.B) + (A+B) :I>— Q = (A.B) + (A+B)
3
5 —i : A+B
Use of AND gate / OR gate — 1 mark each
ce10z8len @ MBS WA L63H:. A Dia
Q= (A.B) + (A+B) :I>7 Q = (AB) + (A+B)
3
5 —i : A+B
Use of AND gate / OR gate — 1 mark each
32 What is an Operating system ? List various functions of an | Operating system is a set of programs that acts as an interface
operating system. between the user and computer hardware. 1
Functions of an operating system
* Process management.
*  Memory management 4x1/2

* File management
* Device management

18




af)amI6M 639a]80¢loUY MilaNe ? 639e]B0GlotY

DalE@IBMINIOM@Po HMUISB nNIBN HAURAIOM@Io

milguosileng ailailw wdcmesrud eilqy 6.01Q)6 enIMWla leenm@Imss B©) &S0 G ld(UNIDIEBI6N) 1
632qJc0glouY milayo ?

* Process management.

* Memory management 4x 172

* File management

* Device management

33 Explain about any three input devices. Any three from the following

* Keyboard — To input text data consisting of alphabets,
numbers and other characters.

* Mouse — Pointing device to position the cursor or move the
pointer on the computer screen by rolling it over a mouse
pad / flat surface. Different types of mouse are ball, optical
and laser mouse.

* Light pen — A pointing device shaped like a pen, used to
draw directly onto screen.

* Touch screen — Allows the user to operate / make selections |3 x 1

by touching on the display screen.

Graphic tablet — Consists of an electronic writing area and a
special ‘pen’, which allows artists to create images.
Joystick — Device with a vertical stick which can move in
any direction and a button as pointer. Used to play video
games.

Microphone — Accepts sound input.

Scanner — Used to capture pictures or text.

OMR (Optical Mark Reader) — Reads predefined positions
and records where marks are made on the printed form.
Barcode reader / QR code reader — Input data as barcodes.
QR code reader used to input two dimensional QR codes.

19




MICR - Used in banks for faster electronic clearing of
cheques.

Biometric sensor — Identifies unique human physical
features with high accuracy.

Smart card reader — Used to access data in a smart card.
Digital camera — Used to take pictures and videos and
converts it to the digital format.

( Names only can be given 1/2 mark each 3 x 1/2)

aBO@SB|eRe ™M) input device HO8H6RCa]
QlluEle6®:.

@26 OBISYOMIEIENMAUDIGE MItMle a@e@esleiRe
@OMERo

Keyboard — &MI[ISOIGRIHE) @REHNDEBRUB, MIo6U (0B,
2ilamMeBRUS @RSEBRI @RSEBBIM SSEAY WIQ
D8RS ©2IQRMUINT VNI B3],

Mouse — @M (LIBT3 OHQLy] &MIRSOIOHR
misslmleer ammy ald@lagdleom ag)esenasy
cQIeMeEsleRo altile{leedm muouwleaymm &afl@d
BOEBRIM 620l Dald@EMAI6N).

86n19U3, Balglee@d, geimd agarlal allailw @meoe
QDM ESB6T).

Light pen — ni(@&lMI@d @NEAIS QUEH6IM HH$laom
CalMW}OS BRE(DI VLRSS 3@} Calo@IFloy)
OalBHEEMMIEMI D).

Touch screen — MY (ST O@IFIOEI6NE

(IUBDDa [|E63U0EMI / BEEIMSIEENIIBMI
DalBINNHEMM].

Graphic tablet — ag) QA8 DalE@IUIEHIM
SDLIBG(SIEMIE; ((I@EINII0 @RMIMBS (IGO0
GalM@)o DUBOEHIVSIOM].

Joystick — a3@} Gluvoaileelsgoe alellaflesndnzom

3x1

20




Rlo6NIAIQ 6B3®} QUSIQIo @RMIM) 583108 63©)
ENISMIMBS Oald6Mo. AflASIeI HNIDYE:&]@d
DaleIUIlLeymM;.

Microphone — Ue6NIRo EMBal35o@I Mujle@leanym;.
Scanner — @REHEOYIODIGLID all(M@IIODICRI 988
QllIEEERUB BUBAIGIGHIMD DalEINIHEMM].

OMR (Optical Mark Reader) — (@l0§’ 6.21@@ @anodlee
@RSWIBEBRUB BUBEUEIBERZM@DIMe MIoERE@IBMMIMY0
DaIBINNHMM].

Barcode reader / QR code reader — 6n10@G£00U)
BlODIER88 (WIQ Mle:@le6 B NIBEHIUY
Dale@INlEeRM]. Bladm EIOCmIeR8s QR code (WIQ
DMB}SIEUB8H69@ QR code reader OalE@IUINH6IM].
MICR — 6NnI085 6)2lB6RHUB EDLIGG(SIEMIE: @RIl input
©.21Q)IB OalCIUINH6RM],.

Biometric sensor — AM3a(E1R @RMMIDIQ UBIGIGB]S
(IBDABDBUS SDYMERIOS UIWI6)5|S3E6)003
VAN HERM].

Smart card reader — M@IABS SHIBWIOEI (WIQ
a)SIENUIM OalEWIUIHEIM].

Digital camera — 2fl(@683830 QlAWICIG:SIo a])SIOTO)Y
W=HlQ@d @3 IORI@B MREHE6IM DalC@IUIEeM].

(Gal@ @Yo o) 3N ITD 1/2 MIBH6Y Qil@o
OHISIONIQUM@IENY 3 x1/2)

21




34

What is debuggiﬁg? Explain different types of errors that
occur in a program.

Finding and correcting the programming errors are called
debugging.

Any two errors with explanation

Syntax error occurs due to violation of rules or
syntax of the programming language.

Logical error- occurs due to improper planning in the
program. |/ Error that causes incorrect out put.

Run-time error - occurs due to improper input of
data

Name of errors only can be given 1/2 mark each

2 X1

Debugging ag)amo6m? 6@} Gald(NIamd
MoRAIENINUIMM QU@ @O LRSS
OOQBO88M0a] lluoi]e@lee)s:

G(1(IdloUIIOE! HDMYPBUB BHOMRDTI @B TIOM
debugging agmy allgleeymm;.

@969 alOQIMAUDIITB BO@ESIRII @66NEMN0

Syntax error : Ml@@EBBEIOS Rlo*RIMo @6)E)esl@d
G(IO(UNIBoU) BIH@IOS QUIG(RISM Eloeile6M @Y
0@6Mo.

Logical error: &@Qo@ output @) &006mM@IE3aM
error. Gld(NIAIOL! HMQIW @RJHTVY@EMRIE DDIY
©006Mo.

Runtime error : ©@Qo@ input m3elo HENEIH,3M error.

( Error &8 @al@ ad(@o af)93@I@o@d 1/2 mad£6) ailmo
6HIS}ENINRM@IEM 2 X 1/2)

2x1
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Explain any three tokens used in C++ with examples

Any three from the following

Keywords: The tokens that convey a specific
meaning to the compiler(Language processor ).

e.g. int, for etc.

Identifiers: User defined words used to name
different programming elements like memory
locations (variables), statements(labels), functions,
objects, classes etc.

e.g. X, sum, mark etc.

Literals: Tokens that do not change their value
during the program run .

e. g.3.14, ‘A’ etc.

Punctuators: Special characters having syntactic or
semantic meaning to the compiler.

e.g.{ ;. (etc

Operators: Symbols that tell the compiler for a
specific operation. e.g. +, -, && etc.

(Name of tokens only only can be given 1/2 mark each

3x1
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C++ 00 ©alCINBNMM aGO@&slRo MY
@SIHEEMIBHUD OBIANBEM MO0
Qllve )o@l H:.

@IONPOHBNISIOTUDIN @B n@Omesslenze 3 ag)ero

«  Keywords: &o066al21010) 8@} (IGm(H> @odMA0o
M@V UGB,

e.g. int, for etc.

« Identifiers: ®#@2a0] £L106HEHMIHUB
(eudlenilgye:ud), GANEORMFIUB (GRINIERE:UT),
aNoUaHMIBHUB, E36NTEREQREUB, EOMIIBUB MIMELIOQ
QD@ G I(UNIAoUT HRISE6BRUBEE) Bal@lISIND
DalE@INIEONM OalEIBMINT MIBUAalla)
QUOBEHUD.

e.g. X, sum, mark etc.

+ Literals: ¢@I9(90 06M3 6).21QREMIdL3 Qllel 8@lecerie
20O BSIEHEMYBHUD.

e.g.3.14, ‘A’ etc.

 Punctuators : Qiaseergloal Qps:eemomleng
aRBENOV LIV Oale@IUILNM allamedrua.

e.g.{ ;. (etc

« Operators : 8@} MBGaHS (IUBTHNOTIMII]
G06)6)alLIOIEMIS alOWIMB DalEIUINHLM
aflameBRU3.

e.g. +, -, && etc.

(6S08606ME-BIOS BaleEWIBIIT 1/2 aBH6) il
6)dHIS}EOINUIM@I6EN) )

3x1
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What are the rules for constructing an identifier?

Any three from the following

* Characters other than letters, digits and underscore
are not permitted.

» First character can not be a digit.
+ Upper and lower case letters are treated differently.
» Spaces and special characters are not allowed.

+ Keywords cannot be used as identifiers.

3x1
(Example with correct justification 1 score)
80} 6af)WPlan@a@ Mldedleeymalmass a@oOmmslee mym mlaeenud
MQA6EBRUB )OI LEQIEN)?
*  @RHUOEERUS, @RHEBRUB, underscore ag)alal
as8Yloess characters @emyusming.
« Identifier onseaRIM®) GREHUEOBTIGRID,
underscore GeId @R¥HWIGBlecH6Mo.
s QelEHEEERS0 6)210lQEHEBRSBo
QU@MI®RQ)] a1@l6TlEeneq]s3nm;
* 98QUQ MICAIBNVI (aIBD s allaMeBRESO
@PmURMng). 3x1

* SIAUUEUB ©ag)WFladO3E:80
DalEIUE6IM aldslg).

(LeRlI MPDB:EEMDMINZ OBINEEMo T MIEE:0A)
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Explain any three types of statements in C ++

Any three statements with syntax or example
« Declaration Statement
Syntax : data _ type variable _name;
Eg:inta;/floatb;/charc;/doubled;
* Input Statement
Syntax : cin >> variable ;
Eg:cin>>a;
* OQOutput Statement
Syntax : cout << variable;
Eg:cout<<a; /[ cout<<"welcome”; [ cout<<15;
+ Assignment Statement
Syntax : variable = data ;
Eg:a=10;a=b;/a=b+c;
( Names only can be given 1/2 mark each 3 x 1/2)

3x1

C++ OBl aBO@8sIRI}o 3 @@ GARROANRIE-UB
Qllveidle:@lec®:.

@61 @mmldleanmaailod mlmy agemasslee 3 ageRe
» Declaration Statement
Syntax : data _ type variable _name;
Eg:inta; /floatb;/charc;/doubled;
* Input Statement
Syntax : cin >> variable ;
Eg:cin>>a;
* Output Statement
Syntax : cout << variable ;
Eg:cout<<a; /[ cout<<"welcome”; [ cout<< 15

+ Assignment Statement
Syntax : variable = data ;

Eg:a=10;a=b;/a=b+c;

( Gal@IBUB D@0 af)PYOIWI@D 1/2 BOBLS) )

3x1
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Consider the C++ code.
switch(colour)

{
case ‘R’: cout<<”Red”; break;
case ‘G’ : cout<<”Green”; break;
case ‘B’ : cout<<”Blue ”; break;
default : cout<<”Invalid”;

}

What will be the output if colour has values .

(@ G
(b) R
©Y

(a) Green
(b) Red

(c) Invalid

@MIRIENMM C++BEI0W al@lNEMIB6)H:.

switch(colour)
{
case ‘R’: cout<<”Red”; break;
case ‘G’ : cout<<”Green”; break;
case ‘B’ : cout<<”Blue ”; break;
default : cout<<”Invalid”;

}

@IOY OBISYOMIGBIL6RMAI colour @) Qlleldud
@@ Mle@lojo@B BMSalS ng)mIVEleo ?

(@ G
(b) R
(Y

(a) Green
(b) Red

(c) Invalid
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a) Predict the output of the following program.
(1)

i=5;

while (i<=25)

{
cout<<i<<’\t”;
i=i+5;

}

b) Rewrite the above code using for loop.

)

a)5 10 15 20 25

b) for(i=5;i<=25;i=i+5)
{

cout<<i;

}

a) MIOYOBISIOIBlLERM G IdWIAION] 63DF
allS ag) 9o}
1)

i=5;

while (i<=25)
{
cout<<i<<’\t’;
i=i+5;

}

b) MB&lerl 80U for loop Oale@IUTl ] @G
) P3O D (2)

a)5 10 15 20 25

b) for(i=5;i<=25;i=i+5)
{

cout<<i;

}
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40 (a) Consider an array declaration
a[5] = { 10,20,30,40,50}; a) 20
a) What will the value of a[1]? b) 50
b) What will the value of a[4]?
c) What will the value of a[4] - a[1] ? c) 30
40 a[5] = { 10,20,30,40,50};  ag)aM Array (W60
al@BleMI L6 H:.
a) 20
a) a[1] &g aflel agrmoeil@leso ?
b) 50
b) a[4] &g allel ag)mo@il@leso ?
c) 30
c) a[4] - a[1] &g ailel agamo@i@leao ?
41 (a) Write C++ statement to declare a character array TEXT |(@) char TEXT [10] ;

of size 10.
(b) Intialize the array TEXT with the letters of the word
“COMPUTER”.

(b) char TEXT [10]= {'C"/O’,/M"/P" /U’ T 'E',/R}; [
char TEXT [10] = “ COMPUTER" ;

(a) size 20 @R BIPEBSA @OEO WlLHWE
£21QIM@IMBE8 C++ CGARQOANY af) 93]S

(b) “COMPUTER” ag)0m QI0H6)6)21 @ReH©68303 TEXT
af)M @REOMII@B store &2IQRMN@IMBS C++
OMHOORIBMVHE EANQOANG ) LIRS

(a) char TEXT [10];
(b) char TEXT [10]= {'C,/O",M'P", U, T''E'/R}; |
char TEXT [10] = “ COMPUTER” ;
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Consider the following C++ program codes .

(a) char str[20];
cin>>str;
cout <<str;

(b) char str[20];
gets(str);
cout <<str;
What will be the output of (a) and (b) if we input the string
“Stay Home” . Justify your answer.

(a) Stay
(b) Stay Home

cin will accept the characters in the string only up to the
space. So the output will be “Stay”.

gets() can accept white spaces, so the answer is “Stay
Home"

@IOYEEEISIO) C++ G(ld(No0 nJ(Br](DGTT)']ﬁé)Q,@)
(a)

char str[20];
cin>>str;
cout <<str;

(b)
char str[20];
gets(str);
cout <<str;
“Stay Home” ag)0m mJ(SloUY , 8008al35 @@l
M@BBII@B (a) IOSQIo (b) IOSQIo BDSalRS
ag) QGBI E630 ? OO0 MO HC|ONE:.

(a) Stay
(b) Stay Home

Cin QAUOENBUWBHSISI@ MNIGAIMS QAUMI@E MIGalMY
QIOEIBE Mi(Slot) MI@MED MlE-AlH6). @RMIeOB:6eNE "Stay”

ag)M QUIBE) A(@o Print 6).a1Qo.

gets() 0y space 988 string input Mle:@ElE60m HYl@o.
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43 |10 |Name the header file for the following built in functions
(a) sqrt()
(b) tolower() (@) cmath / math.h
(c) write () (b) cctype /| ctype.h 3x1
(c) iostream [ iostream.h
@IOY OBISYOMIGBIH6RM built in function HSIOS
header file &UB ag)9IOND
a) cmath [ math.h
(a) sart) (b) t / t h 3x1
(b) tolower() ( )FC ype /c.ype. X
(©) write () (c) iostream [ iostream.h
44 |10 |a) Write the syntax for creating a user defined function in |a) return_type function_name(argument_list)
C++. (1) {
b) Write prototype for a function named ‘ sum’ that accept statements in the body; 1
two integers and return their sum.  (2) }
b) int sum(int, int); 2
a) C++ @ @A We6anmda an6r3auad a) return_type function_name(argument_list) 1
mldaLailesnm@lmonua@o@ mIlagosmd ag)wimies. (1) {
b) @eng integer QflelduB @08 Mle:@la] @RAIIOS @B statements in the body;
return ©.alQRM@IMBS 'sum’ )M aN6BEUOOR prototype }
QOS> 2
PR ® b) int sum(int, int); 2

31




45

11

Write short notes on the following.
a) IP address
b) MAC address
c) Modem

IP address: It is a unique numeric address assigned
to each node on a network by the network
administrator or the Internet Service Provider.

Media Access Control (MAC): It is a universally
unique 12 digit hexadecimal(48bit binary) number
provided to each NIC by its manufacturer.

Modem: Converts digital signals received from a
computer to analog signals for telephone lines
(modulation) and analog signals received from
telephone line to digital signal for computer
(demodulation).

@969 ]|OIMAUOQEN0] 5] B30lajdUB af)93@NS::

a) IP @y
b) MAC @ro(Wwq)
€) BAIWo

a)

IP address: emgIdes) @oElmlmIesQd @oeg)s:ld
HAPBOMEY BILAUM BIMINT B®©} OHMYAUBHEOHEI BIBDI
emaWlmie M@l@Igss unique address @rREMI@).

b) Media Access Control (MAC): 63082 NIC 630 @o@ieng
MB2RO®INT M@H30M Unique @R/ 12 @rLHs hexadecimal
MMINIEMI@).

¢) Modem: @} @misAl@d Ml eidleaym aledlgad
MIlunNeRe:e8 6SellennIeNd OSRIMEUBHE) (GRIWIGEIUNB)
@RMEGRIIYY MIlUNRIEGBIWIe HSLIGANI6M OeRIMI@3 Mmlary
eIEleem @oMERIdU) MUluNERGU8 HMIRSOIMIOISs
Wledlga@d milunernaie (Wleaouieelatad) al@laidommo
6.21QRIM}.
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11

What are the hardware and software requirements to connect
a computer with internet?

Any 3 points from the following

A computer with Network Interface Card facility and
an operating system that supports TCP/IP protocol
Modem

Telephone connection

An Internet account given by an Internet Service
Provider (ISP)

Software like browser, client application for e-mail,
chat, etc.

3x1

80} SHMIRSGleom apdem@ol
enucWla fleenmm@ay @rQIne@O@
aNIBWOQUQOI:BIo BTVIRNQ OQAUQOIE:Bo

ARBO@EJIo ?

aBO®ES|ERe MIMY BalIDIINFIEUB af)PI®EMo

© MBS DARBEBANMY IR MUDEHRIMSBS 63}
&MYRS0 TCP/IP @(l106508H06908 aflasma@esiom
80} 639o]e0gloty milapaizo

* GQOWo

+  6selleandnd semeumd

* 80 LMY GTVAIM BI@IAT (ISP) M@l 6@}
DARBEOME @RLHVENS

«  (euDMA, -endleilmiass g’

@R |BHOHNT, 2100 MLV GMIAYOUQA.

3x1
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12

List different ways to share internet access.

Using LAN
Using Wi-Fi
Using Li-Fi

DMRBOMQ LIRID lBSISIMBS QY@M  ©l@3B0B
ellqy ea19ps

Using LAN
Using Wi-Fi
Using Li-Fi
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48 |12 |(a). Define hacking. Hacking is a technical effort to manipulate the normal
(b) List any two types of hacking behaviour of network connections and connected systems. |1
Any two from the following
« White hat hacking / ethical hacking
« Black Hat hacking 2 x1
» Grey hat hacking
(a) a0286)ler3 Ml alleess a02S867161S - HMUISB UBJAIRIGBIOSRIe @RAUQRAII
(b) a@eo@EN2o EENE 020661 Q@ilesud eflqy eniMWlafla] S:MIRSOIBSIOSDI0 MVJOERIANS: (INIBEDMEBRUS | 1
6 2IQE &6 QfleeId@o MaHSIE6}E:
@969 @MI@lecmMAUI@ Tl a@eO®elee ©66MREMNo
« White hat hacking / ethical hacking
« Black Hat hacking 2x1
* Grey hat hacking
PART D | Answer any 1 question from 49 to 50. 49 23®@3 50 UOHEWRSS nGO®BE1RR0 1 C210B(TIaY PART D
(1x5=5) OO0 MDTDDYH>. (1 x5=5)
49 |2 a) Explain the methods of representing integers in computer |a)
memory. * Sign and magnitude representation: In sign and
(3) magnitude representation the first bit from left of
the word is used for representing sign (0 for +ve and
b) How floating point numbers are represented in computer 1 for -ve) and remaining bits for its magnitude.
memory ? () « 1's complement representation: In 1's complement
representation binary equivalent of the number is 3

calculated with sufficient number of bits depending
upon its word length. If the number is -ve 1's
complement of the binary is calculated.

« 2's complement representation: In 2's complement

34




representation binary equivalent of the number is
calculated with sufficient number of bits depending
upon its word length. If the number is -ve 2's
complement of the binary is calculated.

(Listing of three method can be given 1/2 mark each 3x1/2

)

b) Using Mantissa - exponent method

A floating point number consists of 2 parts :
mantissa and exponent.

In a 32 bit word length computer, 24 bits are used
for storing mantissa.

8 bits are used for storing exponent.

1 bit used for representing the sign.

(Name of method can be given 1 mark)

4x1/2

a) &MIISB 6AGIVI@B A 3BENMICEU(EOS
(DB B:@Bleymm Slmle:ud allai@leays:. (3)

b) a)6BREOM@IEN BaQISI6B Galo@F’ MMUINGOS
HMYISA 62AOIDN@B (IDIMIWlBElemM@) ? (2)

a)

Sign and magnitude representation:
EDS@ERINEORMIMMSS @R[ 6nilg @R@Ie g
aflame @m0 (0 for +ve, 1 for -ve) GUBAHIHEZMM
enilQIeU8 MVEUWIOS MILIODTHQIo
(@Sl e@loeymm;.

1's complement representation: Mio6u@6s 8 bit binary
equivalent 6N lISIEMM]. 6ICEI RRETHRYo 1
af)MYo BI6EI BMIIOM@Io 0 ag)Mio MIG! ag)RI@IWIGS
1's complement 21El&6)}0.

2's complement representation: quo6u(@3e)s 8 bit binary
equivalent @>6N8}aflSl@6}M]. 1's complement @MNIOSIao 1

3x1
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&SII@B 2's complement £1ElH6)0.
(Listing of three method can be given 1/2 mark each 3x1/2

)

b) Using Mantissa — exponent method
* 63 floating point (TUoG)J‘S@'ﬁé' Mantissa, Exponent ng)(rﬁ'l 2
BINEBRUB OENBIB-o.
32 6nilg word length 988 &MIRSAI@D Mantissa HX@
(@ISl e@leemalal 24 bit.
Exponent &M (I@IMIUSl&:@leemM@Ial 8 bit .
s allaMo (I@MIWSS:EleeM@IT 1 bit.
( Name of method can be given 1/2 mark)

4x1/2

50

a) What is a loop ? Explain various looping statements in C+
+. 4)
b) -------mmmmme- is an exit controlled loop. @8]

Loop: Statements used for repeated execution of one or
more statements.
Different loops in c++
1) while loop
Syntax:
initialisation;
while(test expression)
{
body of the loop;
updation of loop control variable;
}
2) for loop
Syntax:
for (initialisation; test expression; update statement)
{
body-of-the-loop;

}
3) do ...while loop
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Syntax:
initialisation;
do
{
body of the loop;
updation of loop control variable;
} while(test expression);
(Name of loops can be given 1/2 mark each )
(correct examples of loops can be given 1 mark each )

b) do while

a) ag)®26m 2] ? C ++ eel aillailw eajlouy

eaNReRRie-ud Qiludleeys:. (4)
) e — 63@) Exit controlled loop @6m.
(1)

Loop: 8809 @R@IRIW&EAI (aIMImINUM BSOS
@RHUBOM LR8B MIBQYOEMDOHIMII DalE@IUTIEeM
(I CNI@DIQUM BB,

Different loops in c++
1) while loop
Syntax:
initialisation;
while(test expression)
{
body of the loop;
updation of loop control variable;
}
2) for loop
Syntax:
for (initialisation; test expression; update statement)

{
body-of-the-loop;
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}
3) do-while loop

Syntax:
initialisation of loop control variable;
do
{
body of the loop;
updation of loop control variable;
} while(test expression);

(Name of loops can be given 1/2 mark each )
(correct examples of loops can be given 1 mark each )

b) do while
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